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QUESTION 1

How can disparate services communicate with each other in an SOA?

A. Use XML messages to provide interoperability.

B. Service providers adopt one common data model for all services.

C. Enforce a common data model at the Enterprise Service Bus (ESB) layer.

D. Business analysts create the integration logic details to negotiate between services.

Correct Answer: A

QUESTION 2

What provides the most value in helping developers find existing SOA services and driving
reuse?

A. Service monitoring

B. An asset repository

C. The Enterprise Service Bus (ESB)

D. Access services to legacy systems

Correct Answer: B

QUESTION 3

Which two statements about security considerations in an SOA environment are true?

A. Firewalls or routers are the mechanisms for securing an SOA business environment.

B. Security policy decisions are made and carried out within an Enterprise Service Bus (ESB).
C. Identities exist for both users and services, and both must be subject to the same controls.

D. The creation of roles for business process task lists are used to prevent business partner access to protected
assets.

E. There is a need to manage identity and security across a range of systems and services that are implemented in a
diverse mix of new and old technologies.

Correct Answer: CE

QUESTION 4
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How does SOA achieve alignment between business and IT?

A. By ensuring services represent the underlying IT functions that the business must use in order to function

B. By hiding operational details allowing services to be loosely coupled and changed to suit the situation

C. By creating business processes that are direct representations of the business which can be simulated and refined

D. By providing service operations that represent business tasks allowing those operations to be used in whatever
combination the business decides is appropriate

Correct Answer: D

QUESTION 5

Why is messaging important to an SOA?

A. Messaging improves the performance of complex environments.

B. Messaging implements separation of concerns resulting in faster development.

C. Messaging facilitates communication between distributed heterogeneous environments.

D. Messaging is used to communicate between a repository and an Enterprise Service Bus (ESB).

Correct Answer: C
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